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V (kN) 51 42 29 16 3 -1 -24 -37 -46
LoadCase ( 1) Cn Cn Cn 2 Cn Cn Cn Cn
Asv 41 41 41 41 41 41 41 41 41
Rsv 0.14 14 014 014 014 014 014 0.14 0.14
-M: éﬂi@‘?lr\s%ﬂﬁ/ksﬂ'ﬁ = 763.407/487. 500 = 1‘ 566| au

+M: &1 AsSEOC/ASTT A = bUB. ¥38/487. b00 = auf]

V:#Li3 AsSCEL/AsitE = 50.265/41.395 = 1 214 audy

AEBENVEREER : AsEE/AsiTE = 1.044 aufft

PR ESON B AEPUE ) I, X i AR e e /NEC A R E H, $L e ,.,=0. 2,
B/ MW TR FR=390mm’ . As SEfiC/As 5 = 615. 752/390. 000 = 1.579.

8.5.1 WMEFRBRLEMMEPARZHARGNES TS E pun

AR/ F 3K 8.5. 1 MEREE,
£8.5.1 AEAZHAHHRNRHESE pun (%)
2 h # B BERHSHESE

B EFE L S00MPa 0. 50

2N
B E% S 400MPa 0.55

ZEAG | RS
3B EFLE 4R 300MPa, 335MPa 0. 60
— UL 15 SR 0.20

%E*ﬁi#.liﬁabﬁm OB RGN FRINE 0.20 F0 451/, mm:ual




N-B=11 (1=2000001, J=2000006) (1)B*H (mm)=300%&50

Lb=7.80(m) Cover= 17 (mm) Rcb=30. 0 Fy=360 Fyv=270
TR 030 ERZ AEE R
livec=1.000 tf=0.850 nj=0.400

nv=1.000

-1- -2- -3- —4- -5- —6- -7~ -8 -9-
—M (kNm) -62 =17 0 0 0 0 0 -6 47
LoadCase ( 10 (1) (o0 (0 (0 0 (o0 0O 1N
Top Ast 390 390 0 0 0 0 0 390 390
% Steel 0.20 0.20 0.00 0.00 0.00 0.00 0.00 0.20 0.20
+M (kNm) 0 22 38 47 51 47 38 22 2

LoadCase ( Q) ()] 0 ()] ()] ()] ()] ¢ 0 (0
Btm Ast 390 390 390 390 390 390 390 390 390
% Steel 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20

V (kN) 51 42 29 16 3 -1 -24 -37 -46
LoadGase ( 1) cn Cn 1N 2 N (G N (D!
Asv 16 16 16 16 16 16 16 16 16
Rsv 0.0 05 0.05 0.05 0.05 0.05 0.05 0.05 0.05

5 0.
EMERBEHER: 16

ZehyE (EAEFRMLEERE) 2010RFIHE:

v 0=1.000 FEHIH

DHENER: AsUpL=616
,1,

AsUpR=616  AsDw=509  AsV=50

2= -3~ -4 5 -6 - & 9=
~M (kNm} -62 -17 0 0 0 0 0 -6 -47
LoadCase Cn ()] ()] ()] (o (0 1 Cn
Top Ast 390 0 0 0 0 0 390 390
% Steel 0.20 0.20 0.00 0.00 0.00 0. 00 0.00 0.20 0.20
+M (kNm) 0 22 38 47 51 47 38 22 2

LoadCase ( 00 (0 (0 (0 (0 (0 (o0 (0 (0
Btm Ast 390 390 390 390 390 390 390 390 390
% Steel 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20 0.20

V (kN) 51 42 29 16 3 -1 -24 -37 -46
LoadCase ( 1) 1N 1 1 (2 1N 1 ¢ 1) Cn
Asv 16 16 16 16 16 16 16 16 16
Rsvy 0 05 0 05 0 05 0 05 0 05 0.05 0.05 0.05 0.05
-M:EE |AsSEEL/AsHE = 615.752/390.000 = 1.579 auf

M g1 A SITH = ) . =1, au

Vi #iE1 AsSCBC/AsHHE = 50.265/16.171 = 3.108 auf

FREREITFRAER: AsSREL/AsiHHE = 1.305
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RE 2 X ARAF AR B T BEAT R, DRl LA i Ak 2 B2 (P2 T L A 8 T T 3T U
ABHTRE

T T2 2 HORT DASR ) e 15 A FH A A P AT LV B AR R AR AR A e R kAT
T A RE 1 PP




B EEE Bk S LENE BOSH |SoklE|Besw ssmy oDER BRLEE AEE ERT  EEEE
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& BEEE
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Oy EEsimesss

ZEEFE .ﬁﬁiﬁ%iﬁ;&» 2010 & 5IHTE
y0=1.000 | £=0.800| &
sUplL=

SEMRE: | AsUpR=308  AsDw=308  AsV=101

-1- -2- -3- -4~ -5- -6~ -7- -8~ -9-
~M (kNm) -30 -8 0 0 0 0 0 -7 -27
N (kN) 0 0 0 0 0 0 0 0 0
LoadCase 0 (10) (") )] (") )] (1) (9 ()
R (kNm) 37 37 37 37 37 37 37 37
+M (kNm) 0 10 19 25 27 25 19 10 0
N (kN) 0 0 0 0 0 0 0 0 0
loadCase ( 0) (0 (0 (0 (0 (0 (0 (0 (o0
R (kNm) 37 37 37 37 37 37 37 37 37
V (kN) 0 0 0 0 0 0 0 0 0

LoadCase ( 0) Q1)) « 0 ). « o ). « o ). « o
R (kN) 0 0 0 0 0 0 0 0 0
-M:#&E1 &R/ (v 08) 29‘ 504 = 0.992 buZlt

+M-BES5 ER/(y08) = 29 267/27.496 = 1.064 auff
AHBENITRLER: LR/(v08) = 0.992 buZf
SRR ER: aull 37x0.8=29.6

U TEIIFRLER: aull

REFHMIRAGTITRER: auk

M FFRLER: bulk

2) fal b REE—P SR LR B R W

BB BT UL B L B R 2R R U A0 RN B 1 A 8 BRMED (Jafs s
JREERAEY K512 BUE B RE, AP AR B

TE: TR, RAERTAEEES B B 5T RN LUK B R A, R it A%
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TEREE > BREESENS

ViemEESE |BEEEFMH
Ein=ton: 3 EEA BB E
(S e O 1%BE AR
OI%EE
EEMERS (40 aRER
HRRERNPERE TR OuxFEE
WASHEZ RERS (4
EExER [l les SREE A R
I 1.180 1.200 1.000
i 1.080 1. 100 1.000
il 1.000 1.000 1.000
S L= A T A
T iRE [l les SRR R
FEMG (<) 0,900 0,800 0,800
—fRA (<) 0. 850 0. 850 0. 850

5.1.2 Gt RAB N REN AT & T HIER:
I R o BT it 5 FESA X MR ) (R A2 R e BE RS M, DA 45 F) AR

2R

2 SERR AR B S RAZ B ILAT SO RE A o TR AT TS AR
JEMFRIER, HIRBEAFREERNEE, K 5N Z W R Rt

5. 1.2 BUH.
%5 1.2 GRFEGNSAN 2 LR () |
KR _ e ,
R AR R Ak R
I 1.15 (1.100 1.20 (1.10) 1.15 (1.100 1.00
I1 1.05 (1.00) 1.10 (1.05) 1.05 (1.00) 1.00
111 1.00 1.00 1.00 1.00
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y0=1.000 FEHHE 8P
8 AsUpR=308 AsDw=308 AsV=101

B e S P S A S
M (kNm) -27 -6 0 0 0 0 0 -4 -4
N (kN) 0 0 0 0 0 0 0 0 0
LoadCase 2 ( 8) ( 0) ( 0 ( 0 ( 0) (0 7 (7
R (kNm) 37 37 37 37 37 37 37 37
+M (kNm) 0 10 19 25 30 25 19 10 0
N (kN) 0 0 0 0 0 0 0 0 0
loadCase ( 0) (0 (0 (0 (7 (8 (0 (0 (o0
R (kNm) 37 37 37 37 37 37 37 37 37
v (kN) 0 0 0 0 0 0 0 0

0
LloadCase ( 00 (0 (0O (0O O (0 0 (0 (0

R (kN) 0 Q 0 0 0 0 0 0 0
M- @1 &R/ (y0S) =26.910 =1.495 —BER
+M:Eim5 &R/ (v0S) = 40.233/29.667 = 1.356 ——IEEK

FE BT RESR: oR/(v0S) = 1.356 —IERR

HESEEITESER: R 37x1.1=407
ZUEMTRINITELR: EER
Bt esER: ek

MHEFESER: ERla

JSEp
(DA RS AT 2 % 5E , HEEZXHIE TR RER TR AR
JE B RN ¥ 5 HANA] o
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